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E–114 

M. Com. (Third Semester)  

EXAMINATION, Dec.-Jan., 2020-21 

Paper Fourth 

MANAGEMENT ACCOUNTING 

Time : Three Hours ]  [ Maximum Marks : 80 

[ Minimum Pass Marks : 16 

uksV % funsZ’kkuqlkj lHkh [k.Mksa ds mŸkj nhft,A 

 Attempt all Sections as directed. 

 [k.M&v izR;sd 1  

(Section—A) 

oLrqfu”B@cgqfodYih; iz’u 

(Objective/Multiple Choice Questions) 

uksV % lHkh iz’uksa ds mŸkj nhft,A 

 Attempt all questions. 

lgh mŸkj dk p;u dhft, % 

Choose the correct answer : 

1- izcU/kdh; ys[kkadu dh fopkj/kkjk ds izorZd dkSu gSa \ 

¼v½ ts- csêh 

¼c½ tsEl ,p- fCyl 

¼l½ vkj- ,u- ,UFkksuh 

¼n½ vesfjdu ,dkmf.Vax ,lksfl,’ku  
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Who is the originator of management accounting concept ? 

(a) J. Batty  

(b) James H. Bliss 

(c) R. N. Anthony  

(d) American Accounting Association  

2- vkfFkZd fpV~Bs dk izk:i gksrk gS % 

¼v½ {kSfrt  

¼c½ yEcor~ 

¼l½ {kSfrt  ;k yEcor~ 

¼n½ {kSfrt  ,oa yEcor~ 

The form of Balance Sheet is : 

(a) Horizontal  

(b) Vertical  

(c) Horizontal or Vertical  

(d) Horizontal and Vertical  

3- izcU/kdh; ys[kkfof/k izcU/k dh lgk;rk djrh gS % 

¼v½ dsoy fu;kstu esa  

¼c½ dsoy funsZ’ku esa  

¼l½ dsoy fu;U=.k eas  

¼n½ fu;kstu] funsZ’ku ,oa fu;U=.k lHkh esa  



 [ 3 ] E–114 

 P. T. O. 

Management Accounting helps the management : 

(a) Only in planning  

(b) Only in direction  

(c) Only in control  

(d) In planning, direction and control  

4- foŸkh; fooj.k gksrs gSa % 

¼v½ vuqekfur rF; 

¼c½ izR;kf’kr rF; 

¼l½ vfHkfyf[kr rF; 

¼n½ mi;qZDr eas ls dksbZ ugha  

Financial statement are : 

(a) Estimated Facts  

(b) Anticipated Facts 

(c) Recorded Facts 

(d) None of the above   

5- izcU/kdh; ys[kkfof/k ,d ÝseodZ gS % 

¼v½ ys[kkadu ds fy, 

¼c½ ykxr ys[kkadu ds fy, 

¼l½ fu.kZ;u ds fy, 

¼n½ izcU/k ds fy, 
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Management Accountancy is framework for : 

(a) accounting  

(b) costing  

(c) decision making  

(d) management  

6- foŸkh; fooj.kksa ds fo’ys”k.k esa ‘kkfey gksrk gS % 

¼v½ O;kikfjd [kkrk  

¼c½ ykHk&gkfu [kkrk 

¼l½ vkfFkZd fpV~Bk  

¼n½ mi;qZDr lHkh  

Analysis of financial statement is involves : 

(a) Trading A/c 

(b) Profit & Loss A/c 

(c) Balance Sheet 

(d) All of the above   

7- mŸkjnkf;Ro ys[kkadu esa eq[; rRo D;k gSa \ 

¼v½ dj ds ckn ykHk 

¼c½ iw¡th dh ykxr 

¼l½ dk;Z’khy iw¡th fu.kZ; 

¼n½ ctVh; rFkk okLrfod dk;Z ifj.kke dh rqyuk  
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What is the basic issue involved in responsibility accounting ?  

(a) Profit after tax 

(b) Cost of capital  

(c) Working capital decisions  

(d) Comparison of budgeted and actual performance  

8- mŸkjnkf;Ro ys[kkadu esa izcU/kd dks mŸkjnk;h Bgjk;k tkrk gS % 

¼v½ fu;a=.kh; ykxrksa ds fy,  

¼c½ vfu;a=.kh; ykxrksa  ds fy, 

¼l½ ¼v½ rFkk ¼c½ nksuksa  

¼n½ mi;qZDr esa ls dksbZ ugha  

Under responsibility accounting management are held 

responsible for : 

(a) Controllable costs  

(b) Uncontrollable costs  

(c) Both (a) and (b) 

(d) None of the above  

9- ,d ctV tks lHkh fØ;kRed ctVksa dk lkjka’k gksrk gS % 

¼v½ jksdM+ ctV  

¼c½ ykspiw.kZ ctV 

¼l½ ekLVj ctV 

¼n½ i¡wth ctV  
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A budget which gives summary of all functional budget is 

called : 

(a) Cash Budget 

(b) Flexible Budget 

(c) Master Budget 

(d) Capital Budget 

10- ctV cukus dk igyk dne gS % 

¼v½ O;; iwokZuqeku 

¼c½ jksdM+ iwokZuqeku 

¼l½ mRiknu iwokZuqeku 

¼n½ foØ; iwokZuqeku 

First step is preparing budget is : 

(a) Expenditure forecast 

(b) Cash forecast 

(c) Production forecast 

(d) Sales forecast 

11- okLrfod ykxr vkSj izeki ykxr ds e/; vUrj dks dgrs gSa % 

¼v½ ykHk  

¼c½ HksnkRed ykxr 

¼l½ fopj.k  

¼n½ lqj{kk dh lhek  
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The difference between actual cost and standard cost is 

known as : 

(a) Profit  

(b) Differential cost  

(c) Variance  

(d) Margin of safety  

12- izeki ykxr fof/k lgk;rk igq¡pkrh gS % 

¼v½ ewY; fu;U=.k djus esa  

¼c½ dk;Zdq’kyrk ekius esa  

¼l½ ykHk of̀) djus esa  

¼n½ gkfu;k¡ de djus essa  

Standard costing helps in : 

(a) Controlling prices  

(b) Measuring efficiency  

(c) Increasing profit  

(d) Reducing losses  

13- fuEufyf[kr esa ls dkSu&lk lkexzh iz;ksx fopj.k i;kZ;okph ugha gS \ 

¼v½ lkexzh la’kksf/kr iz;ksx fopj.k 

¼c½ lkexzh ek=k fopj.k 

¼l½ lkexzh dq’kyrk fopj.k 

¼n½ mi;qZDr lHkh  
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Which is not the synonym of material usage variance ?  

(a) Material revised usage variance  

(b) Material quantity variance 

(c) Material efficiency variance 

(d) All of the above  

14- lkexzh dh okLrfod ykxr vkSj izeki ykxr ds vUrj dks dgk tkrk 

gS % 

¼v½ lkexzh ewY; fopj.k 

¼c½ lkexzh ykxr fopj.k 

¼l½ lkexzh iz;ksx fopj.k 

¼n½ lkexzh mRifŸk ek=k fopj.k 

The difference between actual cost of materials and standard 

cost of materials is known as : 

(a) Material price variance  

(b) Material cost variance 

(c) Material usage variance 

(d) Material yield variance 

15- mŸkjnkf;Ro ys[kkadu dks fdl vU; uke ls lEcksf/kr fd;k tkrk gS \ 

¼v½ ykHknk;drk ys[kkadu 

¼c½ fØ;k’khyrk ys[kkadu 

¼l½ ¼v½ vkSj ¼c½ nksuksa  

¼n½ buesa ls dksbZ ugha  
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Responsibility Accounting is also known as : 

(a) Profitability Accounting 

(b) Activity Accounting 

(c) Both (a) and (b)   

(d) None of these  

16- izeki ykxr fof/k esa ‘kkfey gS % 

¼v½ ctV ykxrksa dk fu/kkZj.k 

¼c½ izeki ykxr dk fu/kkZj.k 

¼l½ vuqekfur ykxr dk fu/kkZj.k 

¼n½ mi;qZDr lHkh   

Standard costing involves the : 

(a) Setting of budget costs  

(b) Determination of standard cost  

(c) Fixation of estimated costs  

(d) All of the above  

17- lhekUr ykxr fof/k Li”V djrh gS % 

¼v½ vo’kks”k.k ykxr 

¼c½ dqy ykxr 

¼l½ fLFkj ykxr  

¼n½ ykxr&ek=k&ykHk lEcU/k  
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Marginal costing clearly indicates : 

(a) Absorption costs  

(b) Total cost  

(c) Fixed cost  

(d) Cost-volume-profit relationship  

18- Je dh okLrfod ykxr rFkk izeki ykxr ds vUrj dks dgk tkrk  

gS % 

¼v½ Je nj fopj.k  

¼c½ Je ykxr fopj.k  

¼l½ Je n{krk fopj.k 

¼n½ Je mRifŸk fopj.k 

The difference between actual cost of labour and standard 

cost of labour is known as : 

(a) Labour rate variance  

(b) Labour cost variance  

(c) Labour efficiency variance  

(d) Labour yield variance  

19- vof/k ykxr dk vFkZ gS % 

¼v½ ewy ykxr 

¼c½ fLFkj ykxr 

¼l½ ifjorZu’khy ykxr 

¼n½ dqy ykxr 
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Period cost means : 

(a) Prime Cost  

(b) Fixed Cost 

(c) Variable Cost 

(d) Total Cost 

20- fuEufyf[kr esa ls dkSu&lk ctVu dk izeq[k midj.k ugha gS \ 

¼v½ okLrfod lead 

¼c½ iwokZuqeku  

¼l½ izof̀Ÿk fo’ys”k.k  

¼n½ lkaf[;dh; rduhd 

Which of the following is not a main tool of budgeting ? 

(a) Actual Data 

(b) Forecasting  

(c) Trend Analysis  

(d) Statistical Techniques  

 [k.M&c  

(Section—B) 

vfr y?kq mŸkjh; iz’u 

(Very Short Answer Type Questions) 

uksV % lHkh iz’uksa ds mŸkj nks ;k rhu okD;ksa eas nhft,A izR;sd iz’u  

2 vad dk gSA  

 Attempt all questions in two or three sentences. Each 

questuion carries 2 marks.  

1- izcU/kdh; ys[kkfof/k dh dksbZ nks rduhdsa fyf[k,A  

Write any two techniques of Management Accounting.  
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2- izcU/kdh; ys[kkfof/k ds dksbZ nks dk;Z crkb,A  

Describe any two functions of Management Accounting.   

3- izcU/kdh; ys[kkfof/k ds dksbZ nks mís’; crkb,A  

Describe any two objectives of Management Accounting.  

4- mŸkjnkf;Ro dsUnz D;k gS \ 

What is Responsibility Centre ? 

5- ctV ds dksbZ nks mís’; crkb,A  

Describe any two objectives of Budget.  

6- ekLVj ctV D;k gS \ 

What is Master Budget ?  

7- lhekar ykxr i)fr dh vo/kkj.kk dks Li”V dhft,A  

Explain the concept of marginal costing.  

8- izeki ykxr fof/k ds dksbZ nks mís’; crkb,A  

Explain any two objectives of standard costing.  

 [k.M&l  

(Section—C) 

y?kq mŸkjh; iz’u 

(Short Answer Type Questions) 

uksV % fdUgha vkB iz’uksa ds mŸkj nhft,A xf.krh; izdf̀r ds iz’uksa dks 

NksM+dj vU; iz’uksa ds mŸkj 75 ‘kCnksa esa nhft,A izR;sd iz’u  

3 vad dk gSA  
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 Attempt any eight questions. Each question to be 

answered in 75 words except numerical questions. Each 

question carries 3 marks.  

1- izcU/kdh; ys[kkadu ,oa foŸkh; ys[kkadu esa vUrj crkb,A  

Distinguish between Management Accounting and Financial 

Accounting.  

2- izcU/kdh; ys[kkadu ds {ks= dk o.kZu dhft,A  

Discuss the scope of the Management Accounting.  

3- izekiksa ds eq[; izdkj D;k gSa \ 

What are the main types of standards ? 

4- ykxr dsUnz ,oa mŸkjnkf;Ro dsUnz esa vUrj dhft,A  

Differentiate between Cost Centre and Responsibility Centre  

5- fLFkj ctV vkSj ykspnkj ctV esa D;k vUrj gS \ 

What is the difference between Fixed Budget and Flexible 

Budget ?  

6- ‘kwU; vk/kkj ctVu D;k gksrk gS \ 

What is Zero Based Budgeting ? 

7- ykxr fopj.k fo’ys”k.k D;k gS \ 

What is Cost Variance Analysis ?  

8- izekfir ek=k 40 fdxzk] izekfir nj ` 2 izfr fdxzk] okLrfod ykxr  

` 90 rFkk okLrfod nj ` 3 izfr fdxzkA lkexzh ykxr fopj.k ,oa 

lkexzh mi;ksx fopj.k Kkr dhft,A  
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Standard quantity 40 kg, standard rate ` 2/kg, Actual cost  

` 90 and Actual rate ` 3/kg. Calculate material cost variance 

and material usage variance.  

9- 60% {kerk ds fy, fuEufyf[kr leadksa dh lgk;rk ls 80% {kerk 

ij mRiknu ds fy, ctV rS;kj dhft, % 

60% {kerk ij mRiknu 600 bdkb;k¡ 

lkexzh     ` 100 izfr bdkbZ 

Je     ` 40 izfr bdkbZ 

O;;     ` 10 izfr bdkbZ 

dkj[kkuk O;;   ` 40,000 ¼40% fLFkj½ 

iz’kklfud O;;  ` 30,000 ¼60% fLFkj½ 

With the help of following data for a 60% activity, prepare a 

budget for production at 80% capacity : 

Production at 60% capacity  600 units 

Materials    ` 100 per unit 

Labour    ` 40 per unit 

Expenses    ` 10 per unit 

Factory Expenses  ` 40,000 (40% fixed) 

Administration Expenses  ` 30,000 (60% fixed) 

10- 500 bdkb;ksa dh mRiknu ykxr uhps nh xbZ gS % 

lkexzh     ` 40,000 

Je     ` 20,000 

mifjO;;   ` 10,000 ¼60% fLFkj½ 

dqy rFkk izfr bdkbZ lhekUr ykxr Kkr dhft,A  
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The cost of production of 500 units is given below : 

Materials    ` 40,000 

Labour    ` 20,000 

Overheads    ` 10,000 (60% fixed) 

Find out marginal cost in total and per unit.  

 [k.M&n  

(Section—D) 

nh?kZ mŸkjh; iz’u 

(Long Answer Type Questions) 

uksV % bl [k.M ds lHkh iz’u vfuok;Z gSaA xf.krh; izd`fr ds iz’uksa dks 

NksM+dj izR;sd iz’u dk mŸkj 150 ‘kCnksa esa nhft,A izR;sd iz’u  

5 vad dk gSA  

 All questions of this Section are compulsory. Each 

question except numerical questions is to be answered in 

about 150 words. Each question carries 5 marks.  

1- izcU/kdh; ys[kkadu ls vki D;k le>rs gSa \ bldk egRo  

crkb,A  

What do you understand by Management Accounting ? 

Explain its importance.  

vFkok 

(Or) 

,d oLrq ds mRiknu eas dk;Zjr ,d QSDVªh Qjojh] 2020 ekg ds fy, 

vxzfyf[kr lwpuk,¡ izLrqr djr gSa % 
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 ` 

lkexzh dh ykxr 1,20,000 

Je ykxr 2,40,000 

LFkkbZ mifjO;; 1,20,000 

ifjorZu’khy mifjO;; 60,000 

izfr bdkbZ fcØh ewY; 50 

mRikfnr bdkb;k¡ % 12000 bdkb;k¡  

miyC/k orZeku {kerk ij 20000 bdkb;k¡ izfrekg mRikfnr dh tk 

ldrh gSaA QeZ ds ikl ,d xzkgd }kjk 5000 vfrfjDr bdkb;ksa dks  

` 40 izfr bdkbZ dh nj ls Ø; dk izLrko gSA ,slk vuqeku gS fd bl 

izLrko dh Lohdf̀r }kjk lHkh mRikfnr bdkb;ksa ij lkexzh ykxr esa  

` 1 izfr bdkbZ dh cpr gksxh] ijUrq LFkkbZ mifjO;; esa ` 35,000 dh 

of̀) gks tk;sxhA ;g Hkh vuqeku gS fd dk;Z{kerk esa vkerkSj ij 2% 

dh deh vk,xh vkSj ifj.kkeLo:i Je ykxr rFkk ifjorZu’khy 

mifjO;; mlh vuqikr esa c<+ tk;saxsA  

viuh laLrqfr nsrs gq, fd izLrko dks Lohdf̀r iznku dh  

tkuh pkfg, vFkok ugha izcU/k ds fy, ,d izfrosnu rS;kj  

dhft,A  
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A factory manufacturing a product presents the following 

information for the month of February, 2020 : 

 ` 

Cost of materials  1,20,000 

Labour cost  2,40,000 

Fixed overheads  1,20,000 

Variable overheads  60,000 

Selling price per unit  50 

Units produced : 12000 units  

From the available present capacity, 20000 units per month 

can be produced. The firm has an offer from a customer to 

buy 5000 additional units a price of ` 40 per unit it is 

expected that by accepting this offer, there will be a saving 

of ` 1 per unit in the cost of materials on all units 

manufactured but fixed overheads will increase by ` 35,000. 

It is also anticipated that the overall efficiency will decrease 

by 2% on all production and consequently labour cost and 

variable overheads will increase accordingly.  

Draft a report to the management giving your 

recommendation as to whether this offer should be accepted.  

2- mŸkjnkf;Ro ys[kkadu D;k gS \ ykxr dsUnz vkSj mŸkjnkf;Ro dsUnz esa 

vUrj crkb,A  

What is Responsibility Accounting ? Distinguish between 

Cost Centres and Responsibility Centres.  
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vFkok 

(Or) 

,d oLrq dh ,d bdkbZ ds mRiknu ds lEcU/k esa fooj.k fuEu izdkj 

gS % 

 okLrfod  izeki 

?k.Vs ¼izfr bdkbZ½ 15 10 

Je nj ¼` izfr ?k.Vs½ 15 20 

Je ykxr fopj.k ,oa blds dkj.kksa ds fopj.k Kkr dhft,A 

The following are the particulars relating to the production of 

one unit of a product : 

 Actual Standard 

Hours (per unit) 15 10 

Wages rate (` per hour) 15 20 

Find out labour cost variance and its causation  

variances.  

3- fopj.k fo’ys”k.k ls vki D;k le>rs gSa \ fopj.k fo’ys”k.k ds 

izcU/kdh; mi;ksx crkb,A  

What is Variance Analysis ? Discuss the managerial uses of 

variance analysis.  
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vFkok 

(Or) 

60000 bdkb;ksa ds mRiknu Lrj ij ,d QeZ dh ykxr ,oa fcØh dk 

fooj.k fuEu izdkj gS % 

 ` 

foØ; 1,50,000 

dPph lkexzh 66,000 

Je 33,000 

v)Z&ifjorZu’khy mifjO;; 30,000 

fLFkj mifjO;; 11,000 

ykHk 10,000 

v)Z&ifjorZu’khy O;;ksa esa fLFkj ykxr ` 12,000 gSA ;fn QeZ  

` 10,000 ds ykHk ds orZeku Lrj dks cuk, j[kuk pkgs] rks 110000 

bdkb;ksa ds mRiknu ij izfr bdkbZ foØ; ewY; D;k fu/kkZfjr djuk 

pkfg, \ 

The details of cost and sales of a firm at an output level of  

60000 units are as follows : 

 ` 

Sales  1,50,000 

Raw Materials  66,000 

Labour  33,000 

Semi-variable overheads  30,000 

Fixed overheads 11,000 

Profit 10,000 

Semi-variable overheads include fixed cost of ` 12,000. If 

the firm wants to maintain the profit at a present level of  

` 10,000; what selling price it should fix at the output level 

of 110000 units ?  
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4- izcU/kdh; fu.kZ;ksa esa lhekUr ykxr fof/k ds dqN egRoiw.kZ mi;ksxksa dks 

crkb,A  

State some of the important applications of marginal costing 

for managerial decisions.  

vFkok 

(Or) 

ctVu dk vFkZ crkb,A ,d vPNh ctV iz.kkyh esa D;k ek¡x gksuh 

pkfg, \ 

Define Budgeting. What are the requirements of a good 

budgeting system ? 
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